@ G T = 3T
\ .o .
£+=0 X |\
(\)‘ é) ) {U\v""\/\u/\ .
@ x=Y%, v=5
® o = ,(,\)7'_3( |
Gpex = A peRcde ok ex\remt psvhont

o wZ need by [pd @ ond @
_ JT AT

VA A (a*- 123

po= 2
ST (5) (W - ) \ )

= 4&,5!
o')_g‘ =3 L(P\z-— '(;> P( /2'— ot

1
225 = WA" - [ &

e |
T S N

Scanned by CamScanner



Z\e
W
\l/
SRR
~N
TN
SRt
~—
\ "
e,
3
S

Scanned by CamScanner



W ok b
\WW \(\N) \\W\L'

X~ G S BT
= 6.5 %i(\(%t)

= g5 an(E s A
@ L{' 6.5 %\\(3'(:) ’ B @
%’%»\(%%) = -;&; —\e o)

T TPV - % T &
anglt) = C-%E996 agg

B
YotTE =m0 keqqg
t = 0-33€9;

S 0.%4%99(
Z v
t,. T = T -5

£ 3130 8.

5o elepsed = by L2 3‘9&3\,«

e—_ |

Scanned by CamScanner



